Multiplication d’'un Binome par un Trinome (J)

Simplifiez chaque expression.

1. (—8b— 1)(b° — b* — 7%

2. (—a —7)(=9a* — 5a® + 4a?)

D

3. (—8¢° — 4¢")(—¢° + 4¢* + 7¢%)

| (—8% + 45)(—45 + 5% — 35)

(=2 = 3r%) (207 + 20 + 5%

Ot

6. (=3t +6)(4t* + 8> + 7t%)

-3

(29 + 8)(795 — 8¢ + 993)

8. (=3x* + 42%)(92* + 52® + 42?)

~

0. (—8m° + 6m*)(8m? 4 6m + 2)

10. (=66 — 9a*)(—6a* + a® — 9a?)

MathsLibres.com




Multiplication d’'un Binéme par un Trinome (J) Réponses

Simplifiez chaque expression.

1. (—8b— 1)(b° — b* — 7%
= —8° + 7V’ + 576 + 7D

[\]

(—a —7)(—9a"* — 5a® + 4a?)
— 9a¢° + 68a* + 314> — 284>

W

(—8¢° — 4¢")(—¢" + 44" + 7¢%)
=8¢ — 28¢” — 72¢® — 28¢"

(—s? + 45)(—4s® 4 s* — 35)
— 4s° — 17s* +75% — 125

(@x

(=20 = 3r%)(2r° + 27 + 5%
= —4r® —10r" — 16r° — 15¢°

(=3t +6)(4t* + 82 + 717
= —12t° + 271 + 42¢*

fan)

~

(29 +8)(7g° — 8¢ + 94°)
= 14¢% + 40¢° — 464" + 724°

8 (=3x* + 42%)(92* 4 52® + 4a?)
= —272% 4+ 212" + 82° + 162°

- (=8m® 4 6m*)(8m? + 6m + 2)
— —64m" + 20m° + 12m*

Re)
N®)j

10. (=66 — 9a*)(—6a* + a® — 9a?)
= 36a’ + 48a° + 45a° + 81a*
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